1. Draw structure contours (at least 2) for the contact between PC and MC on the map. Make sure each structure contour is labeled (with the contact it relates to and the height). 
2. Draw structure contours for the CS–CL contact on the map. Make sure each structure contour is labeled. 
3. How do the structure contours of the PC-MC contact and the CS–CL contact relate to each other and what does this tell you about their relative orientations.

4. Draw the structure contours for all the other contacts on the map. If you do not make sure each  structure contour is clearly labeled (with the contact it relates to and the height) you will end up  with a useless mess. What are the relative orientations of the contacts? How many families of orientations of contacts are represented on the map?

5. Draw a topographic profile along the line X-Y. Do not use any vertical exaggeration. Use the structure contours to draw all geological contacts on the same profile. Be particularly careful some of your contacts will intersect- use the map to help you understand what must happen, on the  cross section, in each of these cases. 

6. What is the significance of the contact beneath unit PC?
7. Draw (two) extra cross sections (on another sheet of paper) to show the true thickness of the units. Use the thicknesses on these cross sections to draw a GVS (generalized vertical succession) to  show the stratigraphic succession and the true thicknesses of the units. Use a vertical scale of 1:5,000 on the GVS
The contact of Sh and L contains a rich Zn deposit. The money question- show where there this deposit is in the subsurface and where it is absent. You will need to think quite hard about what to do under PC and MC. 
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